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The correct answer is D because:
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Aisincorrectbecause10°=1,s05x10° mm =5 mm. Bisincorrect

because10'=0.1,505x10"mm = 0.5 mm. Cisincorrect because
102=100, so 5x102mm = 500 mm.
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The correct answeris C because:
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The correct answer is B because:
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The carrect answeris A because:
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The correct answer is C because cell theory contains three basic ideas,
which are:

Cells are the building blocks of structure inliving things.
Cells are the smallest unit of life.
Cells are derived from other cells (pre-existing cells) by division.
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Although statement llis true, itis not one of the fundamental principles of

celltheory.

The correct answer is Abecause this property means that stem cells

could be used, forexample, to produce regenerated tissue (e.g. new skin
tissue for people who have suffered severe burns) or to help with diseases

inwhich a particular cell type is absent or malfunctioning (e.g. type |
diabetes). These types of uses are known as therapeutic uses, because
they provide therapies for diseases, injuries and other health problems.
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The correct answeris B because Parameciumis a ‘particle feeder' that
takes insmallunicellular organisms (e.g. bacteria) into food vacuoles
formed in the cytoplasm. The contents of the food vacuole are then
digested and the products absorbed. In addition, Parameciummoves
through the water by beating its cilia (structure K).

Aisincorrect asrespiration occurs inmitochondria, which are not labelled
intheimage. Cis alsoincorrect for this reason and because excretionin
Parameciumoccurs by waste products simply diffusing out through the
cell membrane over the cell’'s entire surface. Disincorrect as DNA
replication occurs inthe nucleus, which is not labelled in the image.

The correct answeris Cbecause as acellincreasesin size, its volume
increases fasterthanits surface area. As surface area.volumeratiois
calculated by dividing the surface area by the volume, this means that the
ratio decreases as the cellsize increases.
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The correct answer is D because Stargardt's disease is aninherited
diseaseinwhich a mutation of a gene associated with the processing of
vitamin Ain the eye results in breakdown of light-sensitive cells in the
retina, specifically in the area where fine-level focusing occurs. In some
cases, the loss of vision can be severe enough for the personto be
registered asblind.

Aisincorrect as statement | describes Parkinson's disease, which results
inmovement disorders such as hand tremor, limb rigidity, slow
movements and impaired balance.

Bisincorrect for the same reason. Cisincorrect as statement lll describes
type l1diabetes, in which the body suffers from a severe lack of insulin.
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